1) Schematic:

5V ¢ -
im —T—c-s
1uF InF 0
- e o SENSOR |
AGND U7 - .
, mpF—Lc-zu —Lc:z (24 L PESMB 6.5CA CN3
$— ADDR S oA ﬁ“"F FB4—— DT3 1
i _ . 33pF
C9 R3 c21 c5 L S
10k e nog 10 AGND | 1gpF [ i8pF GND SENSOR | 2
Nia 1L — 5 SENSOR 2 \
. X N1/ 3
SDA +—2— sDA . F_L Re L., PESME 6.5C
AGND . . lep c25 2 C20 uy oMB 6.8CA 4
SCL. L{seL NIB 2 18pFL. pps—— DT4 Wi
sD 6 | o v €26 Tc-:s S -
AGND 1 8pF 1&pF GND SENSOR 2
. ~ . . o 180F § . s
INTB S INTE 22 CKIN [
&3 R33
1 ; R3I
vl b . \
- FDC2112-Q1 AGND XTI
R3O,
L 1+—31 our EN
VDD GND

AGND - ] 4

) ASV_40.000Mhz

C3(

AGND

(The DT3 and DT4 are removed)

AGND

(I have tried without C20,21,22,23,25,26,27,and 28 with the same poor signals results)

2) Sensor signals: Vpeak between 1.2V and 2V; frequency around 4MHz (250nS), Time sample 3.3mS:
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Detail:
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3) Software configuration:

Send|2CBuffer[0]J=RCOUNT_CHO_REG;

SendI2CBuffer[1]=0x20; //RCOUNT_CHO
SendI2CBuffer[2]=0x89;

Send|2CBuffer[0]J=RCOUNT _CH1_REG;

SendI2CBuffer[1]=0x20; //RCOUNT_CH1
SendI2CBuffer[2]=0x89;

SendI2CBuffer[0]=SETTLECOUNT_CHO_REG;

SendI2CBuffer[1]=0x00; //SETTLECOUNT_CHO
SendI2CBuffer[2]=0x0A;

SendI2CBuffer[0]=SETTLECOUNT_CH1_REG;

SendI2CBuffer[1]=0x00; //SETTLECOUNT_CH1
SendI2CBuffer[2]=0x0A;

SendI2CBuffer[0]=CLOCK_DIVIDERS_CHO_REG;

Sendl12CBuffer[1]=0x20; //CLOCK_DIVIDERS_CHO
SendI2CBuffer[2]=0x01;

SendI2CBuffer[0]=CLOCK_DIVIDERS_CH1_REG;

SendI2CBuffer[1]=0x20; //CLOCK_DIVIDERS_CH1
SendI2CBuffer[2]=0x01;

SendI2CBuffer[0]=MUX_CONFIG_REG;

SendI2CBuffer[1]=0x82; //MUX_CONFIG
SendI2CBuffer[2]=0x0D;

Send|2CBuffer[0]=DRIVE_CURRENT_CHO_REG;

Sendl2CBuffer[1]=0x6C; //DRIVE_CURRENTCHO
SendI2CBuffer[2]=0x00;

Send|2CBuffer[0]=DRIVE_CURRENT_CH1_REG;

SendI2CBuffer[1]=0x6C; //DRIVE_CURRENT_CH1
SendI2CBuffer[2]=0x00;

SendI2CBuffer[0]=CONFIG_REG;

Sendl2CBuffer[1]=0x16; //CONFIG_REG
SendI2CBuffer[2]=0x01;




4) Results:

Regarding the software, | don’t check the status registers. | just read the DATA_CHO and DATA_CH1 every 10mS; and
finally getting this results:
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The black is one channel, and the red the other one.

From touch to not touch means, from 190 counts to 205. Just only 15 counts, which is a really poor signal.



